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(3) a. John talked about himself.
b. *Himself talked about John.

(4) a. *John’s mother talked about himself.
b. Iheard John’s story about himself.
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(7) a. Johni says that he himselfi saw Mary yesterday.
b. *Johni says that Mary saw him himself; yesterday.
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(8) a. They struck at each other.
b. Theyi said that [ip wej introduced each other;j+ to Mary].

c. Theyi heard [xp our;j stories about each otherjs ].
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(99 a. John did not know any French.
b. *John knew any French.

(10) a.  Mary did not lift a finger to help John.
b. *Mary lifted a finger to help John.
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(11) a. *The man [who did not laugh] ate any peas.
b. *Anybody did not laugh.
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(12) a. Gromit [likes cheese] and [hates cats]. (ZE (L HE#E)
b. Gromit [likes cheese] and Wallace does too. (HIBR, /& 1)
c. [Like cheese] though Gromit does __, he can’t stand Brie. (Fe#h)
d. Wallace and Gromit like each other. (kB ALAR A R ST
e. *Each other like Wallace and Gromit. (R s 7240 BARA 5l SR
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(14) a. Wallace gave [Gromit a biscuit] and [Shawn some cheese] for
breakfast.
b. *[Gromit a biscuit] Wallace gave __ for breakfast.
c. *Wallace gave __ at breakfast-time [his favorite pet beagle an

enormous chewy dog-biscuit].
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(15) a. John gives [candy to children on weekends] and [money to homeless
people on weekdays].
b. John gives money [to children on weekends] and [to homeless people
on weekdays].
c. John gives candy to [children on weekends] and [homeless people on

weekdays].
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(16) a. John intended to give candy to children in libraries on weekends, and

[give candy to children in libraries on weekends] he did __.



b. John intended to give candy to children in libraries, and [give candy
to children in libraries] he did __ on weekends.
c. John intended to give candy to children, and [give candy to children]
he did __ in libraries on weekends.
d. John intended to give candy, and [give candy] he did __ to children in
libraries on weekends.
(17) a. *... and [to children in libraries] he did give candy __ on weekends.
b. *... and [in libraries on weekends] he did give candy to children __.
(18) a. John gives candy to children in libraries on weekends, and Mary does
(too).
b. John gives candy to children in libraries on weekends and Mary does
on federal holidays.
c. John gives candy to children in libraries on weekends and Mary does

in urban parks on federal holidays.
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(20) Reflexive Binding
a. I showed John himself in the mirror.



b. *I showed himself John in the mirror.
c. Ishowed the childreni to each otheriin the mirror.
d. *I showed each other; to the childreni in the mirror.
(21) Bound Variable Anaphora
a. I denied each worker; his; paycheck.
b. *I denied itis owner every paychecki.
c. I gave every paycheck; to itis owner.
d. *I gave hisi paycheck to every worker:;.
(22) Negative Polarity Item Licensing
a. I gave no one anything.
b. *I gave anyone nothing.
c. I gave nothing to anyone.
d. *I gave anything to nobody.
(23) Weak Crossover
a.  Whoi did you show his; reflection in the mirror?
b. *Which lion; did you show itis trainer?
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(26) a. John gave nothing to any of my children in the library on his
birthday.

b. John gave candy to none of my children in any library on his
birthday.

John gave candy to children in no library on any public holiday.

e

d. *John gave anything to none of my children in the library on his
birthday.

e. *John gave candy to any of my children in no library on his birthday.
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(28) a. ... and [give the books to themi in the garden] he did __ on each
otheri’s birthdays.

b. ... and [give the books to themi] he did __ in the garden on each
otheri’s birthdays.
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(i) *John doesn’t hold a candle to Mary because he has talent—he gets a
lot of help.
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(i) John doesn’t hold a candle to Mary because he never works at all—if
he worked, he’d do as well.
(VaiZFEo<MMLARVOTAT U —ZiT & THhRLIER, ik
THERLL BWVWELSTE L5951, )

Q) DOHE 1 because HiNGTESINTEHT, NPI WEERFGETH D, QDHED
EDICH M HDOERFRICBIT D54 52B 2R TR R WA RFET D,
7% L < 1% Linebarger (1980) = & = &,

2) O TOFIITEC Phillips (1996, 1998)i12 L %
51 Rk

Barss, Andrew and Howard Lasnik (1986) “A Note on Anaphora and Double
Objects,” Linguistic Inquiry 17:2, 347-354.

Larson, Richard (1988) “On the Double Object Construction,” Linguistic Inquiry
19:3, 335-391.

Linebarger, Marcia C. (1980) The Grammar of Negative Polarity, Doctoral
dissertation, MIT.

Pesetsky, David (1995) Zero Syntax: Experiencers and Cascades, MIT Press,
Cambridge, MA.

Phillips, Colin (1996) Order and Structure, Doctoral dissertation, MIT.

Phillips, Colin (1998) “Linear Order and Constituency,” ms., University of
Delaware.

Reinhart, Tanya (1976) The Syntactic Domain of Anaphora, Doctoral dissertation,
MIT.



